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( Workout)

Question 1: Work out an estimate of the mean for each of these frequency tables.

(a) Yho-10 @
Length Frequency | Midpoint fn j 4
0<L<10 6 5 30
10<L <20  § is 105
20<L<30 5 5 it5
30<L <40 1 35 24
40<L <50 1 45 U5
Q@ 9 ko
(o
1000 =100 = @
Length Frequency | Midpoint 5%
0<t<5 11 -5 275
5<t<10 37 Z-s5 127-5
10<t<15 43 jlss S37-5
15<+<20 9 (75 1S5
ioo joco

(b) 2142252 UIFE)
Cost Frequency | Midpoint fL
O<c<4 2 Z 4
4cce8 3 b 18
8<csl12 5 io Sv
12<c<16 12 Y (64
16<c<20 3 Nis s¢
e 29¢
@ e 249 (529
Mass Frequency | Midpoint fx
50 < m < 55 3 ST s iIs7:'5
55 <m < 60 5 SES & G e
60<m¢65 10 {z2-5 s
65<m<70 12 (75 g;o |
70<m<75 10 7T 225 |
4o 2ies

Question 2: Work out an estimate of the mean for each of these frequency tables.

psroire = G437

(a)

210240 > (375
Duration (years) | Frequency f X
0<d<10 * 9 us
10<d <20 /& 13 195
20<d <30 ¢ 16 boo
30<d <40 3¢ 2 1 ZO
Go Flo
© 2270 2
Mass Frequency FI
20<m<25°Y* 12 270
25<m¢30%Y 24 béo
30<m<35 3%s 17 Ssz-§
35<m<40 ¥ 15 Str-5
40<m<45 4*< 4 [0
Fr Tiis
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(b)

(d)

Length (cm) Frequency f X

 0<L<30 & 8 o
30<L<60 | 43 1935
60<L<90 7 25 g 75

90 <L <120 1057 4 v bzo
g0 4350

41950 < 300 :

Height Frequency Fr
120<h<130 1** 5] 6375
130<h<140'" 120 /z20c
140 <h < 15045 66 2570
150<h<160/7 §KQ Q145
160<h<170 % 4 L

300 ‘274_;0
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(Apply )

Question 1:  Sally is raising money for charity for a fun run.
The table below has been given to her from the website.

Frequency | fi

Sally says the average donation is £10. Donation |
By calculating the estimated mean, decide if 0<d<5 zy 44 ! !
you agree with Sally. 5<d<10 7i$ 35 g zthz«;‘
o o A (T~ 10 <d < 20 1$] 16 | THo
435 2100 FF47 20:d:5034" 3 | 105
2V-67/80.44 . |
0& . J 50<d<1002s 2 1, 19°C
7 nafion 0 1 : : == e
e wa?c il noler df/(),)o 5 ) //wjree e Sz
Question 2: Nathan delivers pizzas.
The table below shows information about his delivery times.
The pizza company has a promotion that if the delivery time is over 30 minutes,
the customer gets their meal for free
(a) Calculate an estimate for the mean delivery time
%60 150 = A7.2 mivks Delivery Time | Frequency | (x
(b) What percentage of deliveries took over 0<1<10 ¢ 3 Ty
SUminutes? 2/35'7 s UE% 10<+<20 5 10 Jso
. . . 20<t<30 1§ 14 350
Nathan’s manager thinks that the promotion should 30<t:40 3F 19 2
be changed to 40 minutes 20<1<50 oF 2 .
s
(c) Do you agree? Explain your answer. 50 136

;é/b ,' 0/\{7 {% Tl(,ol. Svar 40 /‘14/1//;4

Question 3:  The manager of a small company is calculating the mean salary for his workers.
He has calculated this to be £568,500 per year.
Can you spot any mistakes?

Salary Frequency | Midpoint fx

0 < s ¢ 15000 2 7500 v 15000 ~
15000 < 5 < 30000 15 22500 ¥ | 337500 ©
30000 < s < 45000 6 37500 v | 2250000 *
45000 < s < 60000 2 52500 105000 v
60000<s<100000| 2 (675005 ¢ g 1350000 |/éoco0

27 22 2842500
: Y4506
Mean salary = 2842500 +\5 F £568500
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F42500+ 27 =F£31163. 79




